
















Which of  the following statements best describes the inflammatory process?

A)It is a damaging process in more than 65% of  the cases

B)It is almost always beneficial and harmless

C)It is a response of  vascularized tissue to injurious agents

D)It requires innate immunity to be protective  

E)Viruses are the causative agents in 75% of  the cases

In contrast to transudate; exudate is characterized by:
A)Low protein content
B)High cellularity
C)Rare red blood cells
D)More lymphocytes than neutrophils
E)Lower specific gravity

Which one of  the following nuclear products acts as viscous meshwork after 
neutrophil death?

A)Neutrophil myeloperoxidases
B)Nitric oxide halide
C)Neutrophil extracellular traps
D)Super oxide radicals
E)Neutrophilic metalloproteinases

Steroids are potent anti-inflammatory agents because they inhibit the 
cyclo-oxygenase pathway?
True
False

Patients feel pain at the site of  inflammation; which one of  the 
following mediator of  inflammation is the major player in pain 
sensation?
A)Tumor necrosis factor (TNF)
B)Interleukins
C)Kinin/bradykinin system
D) Chemokines
E)Complement C5a






